
MAT 202 Test 1  
Spring, 2013  Name__________________________ 
 
Work one bonus problem. 
 

1. The function ( ) 742 −−= xxxf  is 1-to-1 on [ )∞,2 .  Find the inverse function.  
State its domain and range. 

 

2. Find ( ) ( )51 ′−f  for ( ) 742 −−= xxxf   (x > 2) in 2 ways: 

a. Directly, by computing 1−f  and evaluating ( ) ( )51 ′−f , using work from #1. 
 

b. Using our theorem for derivative of the inverse (Theorem 7.1.1). 
 

3. Find the derivative with respect to the given independent variable:  Do not 
simplify. 
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4. Evaluate the integrals 
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6. Compute the limits. 
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  (Hint:  ( ) gfgf limlimlim +=+ , 

provided the separate limits exist.) 
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7. Evaluate. 
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Bonus  Differentiate ( )1tan 1 −= − ty  
 
 
Bonus  Baby Bear’s porridge comes out of the pot a blistering 2000 Farenheit.  The 3 
Bears’ cabin is a comfortable 680.  If his porridge cools to 1700 in 1 minute, how long 
does it take to get just right – a perfect 1200? 
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